

HERMITE-HADAMARD INEQUALITIES FOR CO-ORDINATED HARMONIC CONVEX FUNCTIONS

M. A. Noor, K. I. Noor, S. Iftikhar¹, C. Ionescu²

In this paper, we derive some new Hermite-Hadamard type inequality for co-ordinated harmonic convex functions, Some special cases are discussed, which can be viewed as significant refinement of the known results. The ideas and technique of this paper may motivate further research in this dynamic and interesting field.

Keywords: Harmonic convex functions, Convex functions on the co-ordinates, Hermite-Hadamard type inequality.

MSC2010: 26D15, 26D10, 90C23

1. Introduction

Inequalities play an important and significant role in almost all subjects of Mathematical and engineering sciences. Inequalities present a very active and attractive field of research. In recent years, much attention have given to develop various inequalities for several classes of convex functions and their generalizations using novel and new ideas. In recent years, much attention have been given to derive several Hermite-Hadamard type inequalities related to various type of convex functions, using new ideas and innovative techniques, see [8, 9, 15, 17]. Hermite-Hadamard inequalities are used to find the upper and lower bounds of the mean value. For a novel application of Hermite-Hadamard inequalities in the proof of inequality $e < \left(1 + \frac{1}{n}\right)^{n+0.5}$, see Khattri [10].

It is well known that the harmonic means have applications in electrical circuits. The total resistance of a set of parallel resistance is obtained by adding up the reciprocals of the individual resistance values and then considering the reciprocal of their total. For example if R_1 and R_2 are the resistances of two parallel resistors, then the total resistance is obtained by the formula $R = \frac{1}{\frac{1}{R_1} + \frac{1}{R_2}}$, which is half the harmonic mean. These harmonic means also played a crucial in the developments of parallel algorithms. Al-Azemi and Colin [1] have considered the applications of harmonic means in the stock markets, which is another novel aspect of the harmonic means. Anderson et al. [2] considered the harmonic functions and investigated various applications of harmonic functions. Iscan [9] derived the Hermite-Hadamard type inequality for the harmonic functions. These integral inequalities are used to find the upper and lower bounds. For recent developments and other aspects of harmonic convex functions, see [8,9,14-19] and the references therein.

¹M. A. Noor, K. I. Noor, S. Iftikhar: Department of Mathematics, COMSATS Institute of Information Technology, Park Road, Islamabad, Pakistan, Email: noormaslam@gmail.com, khalidanoor@hotmail.com, sabah.iftikhar22@gmail.com

²C. Ionescu: Department of Mathematics and Informatics, University Politehnica of Bucharest, 060042 Bucharest, Romania, Email: cristianaionescu58@yahoo.com

The concept of convex functions on the co-ordinates was introduced by Dragomir [7]. He obtained some new Hermite-Hadamard type inequalities for co-ordinated convex functions. Bakula [3], established the refinement of the Hermite-Hadamard type inequality for co-ordinated convex functions. Chen [6] has obtained some new Hermite-Hadamard type inequalities for co-ordinated convex functions, which can be regarded as refinement of the Hermite-Hadamard inequality obtained by Bakula [3]. For recent results and generalizations concerning Hermite-Hadamard type inequalities for co-ordinated convex functions, see [4, 5, 6, 11, 12, 20, 21] and reference therein. Noor et al. [14] have investigated the coordinated harmonic convex functions and derived some integral inequalities for harmonic functions on the coordinates. It is known that the coordinated harmonic function may not be harmonic function in the ordinary sense.

Motivated and inspired by the ongoing research in this dynamical field, we again consider the co-ordinated harmonic convex functions. We first establish an auxiliary results for Lebesgue integrable functions on the rectangle. We use this auxiliary results to derive some new general Hermite-Hadamard type inequalities for the co-ordinated harmonic convex functions. As an applications of our main result, we obtain a new refinement of the known result.

2. Preliminaries

In this section, we recall the well known concepts:

Definition 2.1. [23]. A set $I = [a, b] \subseteq \mathbb{R} \setminus \{0\}$ is said to be a harmonic convex set, if

$$\frac{xy}{tx + (1-t)y} \in I, \quad \forall x, y \in I, t \in [0, 1].$$

Definition 2.2. [9, 2]. A function $f : I = [a, b] \subseteq \mathbb{R} \setminus \{0\} \rightarrow \mathbb{R}$ is said to be a harmonic convex function, if and only if,

$$f\left(\frac{xy}{tx + (1-t)y}\right) \leq (1-t)f(x) + tf(y), \quad \forall x, y \in I, t \in [0, 1].$$

Iscan [9] established the following Hermite-Hadamard inequality for harmonic convex function.

Theorem 2.1. A function $f : I = [a, b] \subseteq \mathbb{R} \setminus \{0\} \rightarrow \mathbb{R}$ is a harmonic convex function, if and only if,

$$f\left(\frac{2ab}{a+b}\right) \leq \frac{ab}{b-a} \int_a^b \frac{f(x)}{x^2} dx \leq \frac{f(a) + f(b)}{2}, \quad x \in [a, b].$$

Dragomir [8] and Noor et al. [18] have obtained the following refinement of Hermite-Hadamard inequality for harmonic convex functions independently.

Theorem 2.2. [8, 18]. Let $f : I = [a, b] \subseteq \mathbb{R} \setminus \{0\} \rightarrow \mathbb{R}$ be a harmonic convex function on the interval $[a, b]$. Then for any $\lambda \in [0, 1]$, we have

$$\begin{aligned} f\left(\frac{2ab}{a+b}\right) &\leq (1-\lambda)f\left(\frac{2ab}{(1-\lambda)a + (\lambda+1)b}\right) + \lambda f\left(\frac{2ab}{(2-\lambda)a + \lambda b}\right) \\ &\leq \frac{ab}{b-a} \int_a^b \frac{f(x)}{x^2} dx \\ &\leq \frac{1}{2} \left[f\left(\frac{ab}{(1-\lambda)a + \lambda(b)}\right) + (1-\lambda)f(a) + \lambda f(b) \right] \\ &\leq \frac{f(a) + f(b)}{2}. \end{aligned}$$

We now consider harmonic convex functions on the coordinates:

Definition 2.3. [14]. Consider a rectangle $\Delta = [a, b] \times [c, d] \subset \mathbb{R}^2 \setminus \{0\}$ with $a < b$ and $c < d$. A function $f : \Delta = [a, b] \times [c, d] \rightarrow \mathbb{R}$ is said to be harmonic convex function on the rectangle Δ , if

$$f\left(\frac{ab}{\lambda a + (1-\lambda)b}, \frac{cd}{\lambda c + (1-\lambda)d}\right) \leq (1-\lambda)f(a, c) + \lambda f(b, d), \quad \forall (a, b), (c, d) \in \Delta, \lambda \in [0, 1].$$

These co-ordinated harmonic convex functions may be defined as:

Definition 2.4. [14]. Consider a rectangle $\Delta = [a, b] \times [c, d] \subset \mathbb{R}^2 \setminus \{0\}$ with $a < b$ and $c < d$. A function $f : \Delta = [a, b] \times [c, d] \rightarrow \mathbb{R}$ is said to be co-ordinated harmonic convex function on the rectangle Δ , if

$$\begin{aligned} f\left(\frac{ab}{\lambda a + (1-\lambda)b}, \frac{cd}{t c + (1-t)d}\right) &\leq (1-\lambda)(1-t)f(a, c) + (1-\lambda)tf(a, d) \\ &\quad + \lambda(1-t)f(b, c) + \lambda t f(b, d), \end{aligned}$$

for all $(a, b), (c, d) \in \Delta$ and $\lambda, t \in [0, 1]$.

We would like to mention that a function $f : \Delta = [a, b] \times [c, d] \subset \mathbb{R}^2 \setminus \{0\} \rightarrow \mathbb{R}$ is called harmonic on the co-ordinates if the partial mappings $f_y : [a, b] \rightarrow \mathbb{R}$, defined by $f_y(u) := f(u, y)$, and $f_x : [c, d] \rightarrow \mathbb{R}$, defined by $f_x(v) := f(x, v)$, are harmonic convex for all $x \in [a, b]$ and $y \in [c, d]$.

It is known that the co-ordinated harmonic convex functions may not be harmonic convex functions. For example, One can easily show that the function f defined by $f(x, y) = \frac{1}{xy}$ is co-ordinated harmonic convex function, but it is not harmonic convex function in the ordinary sense.

Noor et al. [14] have established the following Hermite-Hadamard inequalities for the co-ordinated harmonic convex functions.

Theorem 2.3. [14]. Let $f : \Delta = [a, b] \times [c, d] \subset \mathbb{R}^2 \setminus \{0\} \rightarrow \mathbb{R}$ is co-ordinated harmonic convex function on the rectangle Δ . Then

$$\begin{aligned} f\left(\frac{2ab}{a+b}, \frac{2cd}{c+d}\right) &\leq \frac{ab(cd)}{(b-a)(d-c)} \int_a^b \int_c^d \frac{f(x, y)}{x^2 y^2} dy dx \\ &\leq \frac{f(a, c) + f(a, d) + f(b, c) + f(b, d)}{4}. \end{aligned} \quad (2.1)$$

The following simple fact plays an important role in the derivation of our main results.

Remark 2.1. If $I \subset \Delta = [a, b] \times [c, d] \subset \mathbb{R}^2 \setminus \{0\}$ and consider the function $g : \left[\frac{1}{b}, \frac{1}{a}\right] \times \left[\frac{1}{d}, \frac{1}{c}\right] \rightarrow \mathbb{R}$ defined by $g(s_1, s_2) = f\left(\frac{1}{s_1}, \frac{1}{s_2}\right)$, then f is co-ordinated harmonic on $[a, b] \times [c, d]$, if and only if, g is co-ordinated convex in the usual sense on $\left[\frac{1}{b}, \frac{1}{a}\right] \times \left[\frac{1}{d}, \frac{1}{c}\right] \rightarrow \mathbb{R}$.

3. Main results

In this section, we obtain a more general Hermite-Hadamard inequality, which is main motivation of this paper. For this purpose, we first prove the following auxiliary result.

Theorem 3.1. Let $g : \Delta = [a, b] \times [c, d] \subseteq \mathbb{R} \setminus \{0\} \rightarrow \mathbb{R}$ be a Lebesgue integrable function on the rectangle Δ and $\lambda, t \in [0, 1]$, then

$$\begin{aligned}
& \int_0^1 \int_0^1 g((1-t_1)a + t_1b, (1-t_2)c + t_2d) dt_1 dt_2 \\
= & \lambda t \int_0^1 \int_0^1 g((1-t_1)a + t_1[(1-\lambda)a + \lambda b], (1-t_2)c + t_2[(1-t)c + td]) dt_1 dt_2 \\
& + \lambda(1-t) \int_0^1 \int_0^1 g((1-t_1)a + t_1[(1-\lambda)a + \lambda b], (1-t_2)[(1-t)c + td] + t_2d) dt_1 dt_2 \\
& + t(1-\lambda) \int_0^1 \int_0^1 g((1-t_1)[(1-\lambda)a + \lambda b] + t_1b, (1-t_2)c + t_2[(1-t)c + td]) dt_1 dt_2 \\
& + (1-t)(1-\lambda) \int_0^1 \int_0^1 g((1-t_1)[(1-\lambda)a + \lambda b] + t_1b, (1-t_2)[(1-t)c + td] + t_2d) dt_1 dt_2.
\end{aligned} \tag{3.1}$$

Proof. For $\lambda = 0, t = 0$ and $\lambda = 1, t = 1$, the inequality (3.1) is obvious.

If $\lambda = 0$ and $t \in [0, 1]$, then

$$\begin{aligned}
& \int_0^1 \int_0^1 g((1-t_1)a + t_1b, (1-t_2)c + t_2d) dt_1 dt_2 \\
= & t \int_0^1 \int_0^1 g((1-t_1)a + t_1b, (1-t_2)c + t_2[(1-t)c + td]) dt_1 dt_2 \\
& + (1-t) \int_0^1 \int_0^1 g((1-t_1)a + t_1b, (1-t_2)[(1-t)c + td] + t_2d) dt_1 dt_2.
\end{aligned}$$

If $t = 0$ and $\lambda \in [0, 1]$, then

$$\begin{aligned}
& \int_0^1 \int_0^1 g((1-t_1)a + t_1b, (1-t_2)c + t_2d) dt_1 dt_2 \\
= & \lambda \int_0^1 \int_0^1 g((1-t_1)a + t_1[(1-\lambda)a + \lambda b], (1-t_2)c + t_2d) dt_1 dt_2 \\
& + (1-\lambda) \int_0^1 \int_0^1 g((1-t_1)[(1-\lambda)a + \lambda b] + t_1b, (1-t_2)c + t_2d) dt_1 dt_2.
\end{aligned}$$

Also for $\lambda \in (0, 1)$ and $t \in (0, 1)$, we observe that

$$\begin{aligned}
(i). \quad & \lambda t \int_0^1 \int_0^1 g((1-t_1)a + t_1[(1-\lambda)a + \lambda b], (1-t_2)c + t_2[(1-t)c + td]) dt_1 dt_2 \\
= & \lambda t \int_0^1 \int_0^1 g(t_1\lambda b + (1-\lambda t_1)a, t_2td + (1-tt_2)c) dt_1 dt_2 \\
= & \int_0^\lambda \int_0^t g(ub + (1-u)a, vd + (1-v)c) dv du \\
(ii). \quad & \lambda(1-t) \int_0^1 \int_0^1 g((1-t_1)a + t_1[(1-\lambda)a + \lambda b], (1-t_2)[(1-t)c + td] + t_2d) dt_1 dt_2 \\
= & \lambda(1-t) \int_0^1 \int_0^1 g(t_1\lambda b + (1-\lambda t_1)a, ((1-t_2)t + t_2)d + (1-t_2)(1-t)c) dt_1 dt_2 \\
= & \int_0^\lambda \int_t^1 g(ub + (1-u)a, vd + (1-v)c) dv du
\end{aligned}$$

$$\begin{aligned}
(iii). \quad & t(1-\lambda) \int_0^1 \int_0^1 g((1-t_1)[(1-\lambda)a + \lambda b] + t_1b, (1-t_2)c + t_2[(1-t)c + td]) dt_1 dt_2 \\
&= t(1-\lambda) \int_0^1 \int_0^1 g(((1-t_1)\lambda + t_1)b + (1-t_1)(1-\lambda)a, t_2td + (1-tt_2)c) dt_1 dt_2 \\
&= \int_\lambda^1 \int_0^t g(ub + (1-u)a, vd + (1-v)c) dv du
\end{aligned}$$

$$\begin{aligned}
(iv). \quad & (1-t)(1-\lambda) \int_0^1 \int_0^1 g((1-t_1)[(1-\lambda)a + \lambda b] + t_1b, (1-t_2)[(1-t)c + td] + t_2d) dt_1 dt_2 \\
&= (1-t)(1-\lambda) \int_0^1 \int_0^1 g(((1-t_1)\lambda + t_1)b + (1-t_1)(1-\lambda)a, ((1-t_2)t + t_2)d \\
&\quad + (1-t_2)(1-t)c) dt_1 dt_2 \\
&= \int_\lambda^1 \int_t^1 g(ub + (1-u)a, vd + (1-v)c) dv du
\end{aligned}$$

Combining the above results, we have

$$\begin{aligned}
& \int_0^1 \int_0^1 g((1-t_1)a + t_1b, (1-t_2)c + t_2d) dt_1 dt_2 \\
&= \int_0^\lambda \int_0^t g(ub + (1-u)a, vd + (1-v)c) dv du \\
&\quad + \int_0^\lambda \int_t^1 g(ub + (1-u)a, vd + (1-v)c) dv du \\
&\quad + \int_\lambda^1 \int_0^t g(ub + (1-u)a, vd + (1-v)c) dv du \\
&\quad + \int_\lambda^1 \int_t^1 g(ub + (1-u)a, vd + (1-v)c) dv du \\
&= \int_0^1 \int_0^1 g(ub + (1-u)a, vd + (1-v)c) dv du
\end{aligned}$$

and the identity (3.1) is proved. \square

We now derive a new Hermite-Hadamard inequality for co-ordinated harmonic convex function.

Theorem 3.2. *Let $f : \Delta = [a, b] \times [c, d] \subset \mathbb{R}^2 \setminus \{0\} \rightarrow \mathbb{R}$ be co-ordinated harmonic convex function on the rectangle Δ . Then for any $\lambda \in [0, 1]$ and $t \in [0, 1]$, we have*

$$\begin{aligned}
f\left(\frac{2ab}{a+b}, \frac{2cd}{c+d}\right) &\leq \phi(\lambda, t) \\
&\leq \frac{(ab)(cd)}{(b-a)(d-c)} \int_a^b \int_c^d \frac{f(x, y)}{x^2 y^2} dx dy \\
&\leq \psi(\lambda, t) \\
&\leq \frac{f(a, c) + f(a, d) + f(b, c) + f(b, d)}{4}.
\end{aligned} \tag{3.2}$$

where

$$\begin{aligned}\phi(\lambda, t) &= t\lambda f\left(\frac{2ab}{(2-\lambda)a+\lambda b}, \frac{2cd}{(2-t)c+td}\right) \\ &\quad + \lambda(1-t)f\left(\frac{2ab}{(2-\lambda)a+\lambda b}, \frac{2cd}{(1-t)c+(1+t)d}\right) \\ &\quad + t(1-\lambda)f\left(\frac{2ab}{(1-\lambda)a+(1+\lambda)b}, \frac{2cd}{(2-t)c+td}\right) \\ &\quad + (1-\lambda)(1-t)f\left(\frac{2ab}{(1-\lambda)a+(1+\lambda)b}, \frac{2cd}{(1-t)c+(1+t)d}\right).\end{aligned}$$

and

$$\begin{aligned}\psi(\lambda, t) &= \frac{t\lambda}{4}f(b, d) + \frac{\lambda(1-t)}{4}f(b, c) + \frac{t(1-\lambda)}{4}f(a, d) + \frac{(1-t)(1-\lambda)}{4}f(a, c) \\ &\quad + \frac{1}{4}f\left(\frac{ab}{(1-\lambda)a+\lambda b}, \frac{cd}{(1-t)c+td}\right) + \frac{\lambda}{4}f\left(b, \frac{cd}{(1-t)c+td}\right) \\ &\quad + \frac{1-\lambda}{4}f\left(a, \frac{cd}{(1-t)c+td}\right) + \frac{t}{4}f\left(\frac{ab}{(1-\lambda)a+\lambda b}, d\right) \\ &\quad + \frac{1-t}{4}f\left(\frac{ab}{(1-\lambda)a+\lambda b}, c\right).\end{aligned}$$

Proof. Let g be co-ordinated convex function on $\Delta = [\frac{1}{b}, \frac{1}{a}] \times [\frac{1}{d}, \frac{1}{c}]$, defined by $g(s_1, s_2) = f(\frac{1}{s_1}, \frac{1}{s_2})$, $s_1, s_2 \in [\frac{1}{b}, \frac{1}{a}] \times [\frac{1}{d}, \frac{1}{c}]$, then using Remark 2.1 and for $\lambda, t \in [0, 1]$, we have

$$\begin{aligned}(i). \quad & g\left(\frac{(2-\lambda)a+\lambda b}{2ab}, \frac{(2-t)c+td}{2cd}\right) \\ &= g\left(\frac{\frac{1}{b} + (1-\lambda)\frac{1}{b} + \lambda\frac{1}{a}}{2}, \frac{\frac{1}{d} + (1-t)\frac{1}{d} + t\frac{1}{c}}{2}\right) \\ &\leq \int_0^1 \int_0^1 g\left((1-t_1)\frac{1}{b} + t_1\left((1-\lambda)\frac{1}{b} + \lambda\frac{1}{a}\right), (1-t_2)\frac{1}{d} + t_2\left((1-t)\frac{1}{d} + t\frac{1}{c}\right)\right) dt_1 dt_2 \\ &\leq \frac{g(\frac{1}{b}, \frac{1}{d}) + g(\frac{1}{b}, (1-t)\frac{1}{d} + t\frac{1}{c}) + g((1-\lambda)\frac{1}{b} + \lambda\frac{1}{a}, \frac{1}{d}) + g((1-\lambda)\frac{1}{b} + \lambda\frac{1}{a}, (1-t)\frac{1}{d} + t\frac{1}{c})}{4} \\ &= \frac{g(\frac{1}{b}, \frac{1}{d}) + g(\frac{1}{b}, \frac{(1-t)c+td}{cd}) + g(\frac{(1-\lambda)a+\lambda b}{ab}, \frac{1}{d}) + g(\frac{(1-\lambda)a+\lambda b}{ab}, \frac{(1-t)c+td}{cd})}{4} \quad (3.3)\end{aligned}$$

$$\begin{aligned}(ii). \quad & g\left(\frac{(2-\lambda)a+\lambda b}{2ab}, \frac{(1-t)c+(1+t)d}{2cd}\right) \\ &= g\left(\frac{\frac{1}{b} + (1-\lambda)\frac{1}{b} + \lambda\frac{1}{a}}{2}, \frac{(1-t)\frac{1}{d} + t\frac{1}{c} + \frac{1}{c}}{2}\right) \\ &\leq \int_0^1 \int_0^1 g\left((1-t_1)\frac{1}{b} + t_1\left((1-\lambda)\frac{1}{b} + \lambda\frac{1}{a}\right), (1-t_2)\left((1-t)\frac{1}{d} + t\frac{1}{c}\right) + t_2\frac{1}{c}\right) dt_1 dt_2 \\ &\leq \frac{g(\frac{1}{b}, (1-t)\frac{1}{d} + t\frac{1}{c}) + g(\frac{1}{b}, \frac{1}{c}) + g((1-\lambda)\frac{1}{b} + \lambda\frac{1}{a}, (1-t)\frac{1}{d} + t\frac{1}{c}) + g((1-\lambda)\frac{1}{b} + \lambda\frac{1}{a}, \frac{1}{c})}{4} \\ &= \frac{g(\frac{1}{b}, \frac{(1-t)c+td}{cd}) + g(\frac{1}{b}, \frac{1}{c}) + g(\frac{(1-\lambda)a+\lambda b}{ab}, \frac{(1-t)c+td}{cd}) + g(\frac{(1-\lambda)a+\lambda b}{ab}, \frac{1}{c})}{4} \quad (3.4)\end{aligned}$$

$$\begin{aligned}
(iii). \quad & g\left(\frac{(1-\lambda)a + (\lambda+1)b}{2ab}, \frac{(2-t)c + td}{2cd}\right) \\
= & g\left(\frac{(1-\lambda)\frac{1}{b} + \lambda\frac{1}{a} + \frac{1}{a}}{2}, \frac{\frac{1}{d} + (1-t)\frac{1}{d} + t\frac{1}{c}}{2}\right) \\
\leq & \int_0^1 \int_0^1 g\left((1-t_1)\left((1-\lambda)\frac{1}{b} + \lambda\frac{1}{a}\right) + t_1\frac{1}{a}, (1-t_2)\frac{1}{d} + t_2\left((1-t)\frac{1}{d} + t\frac{1}{c}\right)\right) dt_1 dt_2 \\
\leq & \frac{g\left((1-\lambda)\frac{1}{b} + \lambda\frac{1}{a}, \frac{1}{d}\right) + g\left((1-\lambda)\frac{1}{b} + \lambda\frac{1}{a}, (1-t)\frac{1}{d} + t\frac{1}{c}\right) + g\left(\frac{1}{a}, \frac{1}{d}\right) + g\left(\frac{1}{a}, (1-t)\frac{1}{d} + t\frac{1}{c}\right)}{4} \\
= & \frac{g\left(\frac{(1-\lambda)a + \lambda b}{ab}, \frac{1}{d}\right) + g\left(\frac{(1-\lambda)a + \lambda b}{ab}, \frac{(1-t)c + td}{cd}\right) + g\left(\frac{1}{a}, \frac{1}{d}\right) + g\left(\frac{1}{a}, \frac{(1-t)c + td}{cd}\right)}{4} \quad (3.5)
\end{aligned}$$

$$\begin{aligned}
(iv). \quad & g\left(\frac{(1-\lambda)a + (\lambda+1)b}{2ab}, \frac{(1-t)c + (1+t)d}{2cd}\right) \\
= & g\left(\frac{(1-\lambda)\frac{1}{b} + \lambda\frac{1}{a} + \frac{1}{a}}{2}, \frac{(1-t)\frac{1}{d} + t\frac{1}{c} + \frac{1}{c}}{2}\right) \\
\leq & \int_0^1 \int_0^1 g\left((1-t_1)\left((1-\lambda)\frac{1}{b} + \lambda\frac{1}{a}\right) + t_1\frac{1}{a}, (1-t_2)\left((1-t)\frac{1}{d} + t\frac{1}{c}\right) + t_2\frac{1}{c}\right) dt_1 dt_2 \\
\leq & \frac{g\left((1-\lambda)\frac{1}{b} + \lambda\frac{1}{a}, (1-t)\frac{1}{d} + t\frac{1}{c}\right) + g\left((1-\lambda)\frac{1}{b} + \lambda\frac{1}{a}, \frac{1}{c}\right) + g\left(\frac{1}{a}, (1-t)\frac{1}{d} + t\frac{1}{c}\right) + g\left(\frac{1}{a}, \frac{1}{c}\right)}{4} \\
= & \frac{g\left(\frac{(1-\lambda)a + \lambda b}{ab}, \frac{(1-t)c + td}{cd}\right) + g\left(\frac{(1-\lambda)a + \lambda b}{ab}, \frac{1}{c}\right) + g\left(\frac{1}{a}, \frac{(1-t)c + td}{cd}\right) + g\left(\frac{1}{a}, \frac{1}{c}\right)}{4} \quad (3.6)
\end{aligned}$$

Multiply (3.3) by λt , (3.4) by $\lambda(1-t)$, (3.5) by $t(1-\lambda)$, (3.6) by $(1-\lambda)(1-t)$, and adding the resultant, we have

$$\begin{aligned}
& t\lambda f\left(\frac{2ab}{(2-\lambda)a + \lambda b}, \frac{2cd}{(2-t)c + td}\right) + \lambda(1-t)f\left(\frac{2ab}{(2-\lambda)a + \lambda b}, \frac{2cd}{(1-t)c + (1+t)d}\right) \\
& + t(1-\lambda)f\left(\frac{2ab}{(1-\lambda)a + (1+\lambda)b}, \frac{2cd}{(2-t)c + td}\right) \\
& + (1-\lambda)(1-t)f\left(\frac{2ab}{(1-\lambda)a + (1+\lambda)b}, \frac{2cd}{(1-t)c + (1+t)d}\right) \\
= & \phi(\lambda, t) \\
\leq & \int_0^1 \int_0^1 f\left(\frac{ab}{(1-t_1)a + t_1b}, \frac{cd}{(1-t_2)c + t_2d}\right) dt_1 dt_2 \\
= & \frac{(ab)(cd)}{(b-a)(d-c)} \int_a^b \int_c^d \frac{f(x, y)}{x^2 y^2} dx dy \\
\leq & \frac{\lambda t}{4} \left[f\left(b, d\right) + f\left(b, \frac{cd}{(1-t)c + td}\right) + f\left(\frac{ab}{(1-\lambda)a + \lambda b}, d\right) \right. \\
& \left. + f\left(\frac{ab}{(1-\lambda)a + \lambda b}, \frac{cd}{(1-t)c + td}\right) \right] + \frac{\lambda(1-t)}{4} \left[f\left(b, \frac{cd}{(1-t)c + td}\right) + f(b, c) \right]
\end{aligned}$$

$$\begin{aligned}
& +f\left(\frac{ab}{(1-\lambda)a+\lambda b}, \frac{cd}{(1-t)c+td}\right) + f\left(\frac{ab}{(1-\lambda)a+\lambda b}, c\right) \Big] \\
& + \frac{t(1-\lambda)}{4} \left[f\left(\frac{ab}{(1-\lambda)a+\lambda b}, d\right) + f\left(\frac{ab}{(1-\lambda)a+\lambda b}, \frac{cd}{(1-t)c+td}\right) \right. \\
& \left. + f(a, d) + f\left(a, \frac{cd}{(1-t)c+td}\right) \right] + \frac{(1-\lambda)(1-t)}{4} \left[f\left(\frac{ab}{(1-\lambda)a+\lambda b}, \frac{cd}{(1-t)c+td}\right) \right. \\
& \left. + f\left(\frac{ab}{(1-\lambda)a+\lambda b}, c\right) + f\left(a, \frac{cd}{(1-t)c+td}\right) + f(a, c) \right] \\
= & \frac{t\lambda}{4} f(b, d) + \frac{\lambda(1-t)}{4} f(b, c) + \frac{t(1-\lambda)}{4} f(a, d) + \frac{(1-t)(1-\lambda)}{4} f(a, c) \\
& + \frac{1}{4} f\left(\frac{ab}{(1-\lambda)a+\lambda b}, \frac{cd}{(1-t)c+td}\right) + \frac{\lambda}{4} f\left(b, \frac{cd}{(1-t)c+td}\right) + \frac{1-\lambda}{4} f\left(a, \frac{cd}{(1-t)c+td}\right) \\
& + \frac{t}{4} f\left(\frac{ab}{(1-\lambda)a+\lambda b}, d\right) + \frac{1-t}{4} f\left(\frac{ab}{(1-\lambda)a+\lambda b}, c\right) \\
= & \psi(\lambda, t). \tag{3.7}
\end{aligned}$$

Also

$$\begin{aligned}
\phi(\lambda, t) &= t\lambda f\left(\frac{2ab}{(2-\lambda)a+\lambda b}, \frac{2cd}{(2-t)c+td}\right) \\
&+ \lambda(1-t) f\left(\frac{2ab}{(2-\lambda)a+\lambda b}, \frac{2cd}{(1-t)c+(1+t)d}\right) \\
&+ t(1-\lambda) f\left(\frac{2ab}{(1-\lambda)a+(1+\lambda)b}, \frac{2cd}{(2-t)c+td}\right) \\
&+ (1-\lambda)(1-t) f\left(\frac{2ab}{(1-\lambda)a+(1+\lambda)b}, \frac{2cd}{(1-t)c+(1+t)d}\right) \\
= & t\lambda g\left(\frac{(2-\lambda)a+\lambda b}{2ab}, \frac{(2-t)c+td}{2cd}\right) \\
&+ \lambda(1-t) g\left(\frac{(2-\lambda)a+\lambda b}{2ab}, \frac{(1-t)c+(1+t)d}{2cd}\right) \\
&+ t(1-\lambda) g\left(\frac{(1-\lambda)a+(1+\lambda)b}{2ab}, \frac{(2-t)c+td}{2cd}\right) \\
&+ (1-\lambda)(1-t) g\left(\frac{(1-\lambda)a+(1+\lambda)b}{2ab}, \frac{(1-t)c+(1+t)d}{2cd}\right) \\
\geq & g\left((1-\lambda)\left(\frac{(1-\lambda)a+(1+\lambda)b}{2ab}\right) + \lambda\left(\frac{(2-\lambda)a+\lambda b}{2ab}\right), \right. \\
&\left. (1-t)\left(\frac{(1-t)c+(1+t)d}{2cd}\right) + t\left(\frac{(2-t)c+td}{2cd}\right)\right) \\
= & g\left(\frac{a+b}{2ab}, \frac{c+d}{2cd}\right) = f\left(\frac{2ab}{a+b}, \frac{2cd}{c+d}\right) \tag{3.8}
\end{aligned}$$

and

$$\begin{aligned}
\psi(\lambda, t) &\leq \frac{t\lambda}{4} f(b, d) + \frac{\lambda(1-t)}{4} f(b, c) + \frac{t(1-\lambda)}{4} f(a, d) + \frac{(1-t)(1-\lambda)}{4} f(a, c) \\
&+ \frac{(1-\lambda)(1-t)}{4} f(b, d) + \frac{\lambda t}{4} f(a, c) + \frac{\lambda(1-t)}{4} f(a, d) + \frac{t(1-\lambda)}{4} f(b, c) \\
&+ \frac{\lambda t}{4} f(b, c) + \frac{\lambda(1-t)}{4} f(b, d) + \frac{\lambda t}{4} f(a, d) + \frac{t(1-\lambda)}{4} f(b, d)
\end{aligned}$$

$$\begin{aligned}
& + \frac{(1-t)(1-\lambda)}{4} f(b, c) + \frac{(1-t)\lambda}{4} f(a, c) + \frac{(1-\lambda)(1-t)}{4} f(a, d) \\
& + \frac{(1-\lambda)t}{4} f(a, c) \\
& = \frac{f(a, c) + f(a, d) + f(b, c) + f(b, d)}{4}.
\end{aligned} \tag{3.9}$$

From (3.7)-(3.9), we obtained the desired inequality (3.2). \square

We now consider an application of our main result(Theorem 3.2). For $\lambda = \frac{1}{2}$ and $t = \frac{1}{2}$, Theorem 3.2 reduces to the following result.

Theorem 3.3. *Let $f : \Delta = [a, b] \times [c, d] \subset \mathbb{R}^2 \setminus \{0\} \rightarrow \mathbb{R}$ is co-ordinated harmonic convex function on the rectangle Δ . Then*

$$\begin{aligned}
f\left(\frac{2ab}{a+b}, \frac{2cd}{c+d}\right) & \leq \frac{1}{4} \left[f\left(\frac{4ab}{3a+b}, \frac{4cd}{3c+d}\right) + f\left(\frac{4ab}{3a+b}, \frac{4cd}{c+3d}\right) \right. \\
& \quad \left. + f\left(\frac{4ab}{a+3b}, \frac{4cd}{3c+d}\right) + f\left(\frac{4ab}{a+3b}, \frac{4cd}{c+3d}\right) \right] \\
& \leq \frac{(ab)(cd)}{(b-a)(d-c)} \int_a^b \int_c^d \frac{f(x, y)}{x^2 y^2} dx dy \\
& \leq \frac{f(b, d) + f(b, c) + f(a, d) + f(a, c)}{16} + \frac{1}{4} f\left(\frac{2ab}{a+b}, \frac{2cd}{c+d}\right) \\
& \quad + \frac{f(b, \frac{2cd}{c+d}) + f(a, \frac{2cd}{c+d}) + f(\frac{2ab}{a+b}, d) + f(\frac{2ab}{a+b}, c)}{8} \\
& \leq \frac{f(a, c) + f(a, d) + f(b, c) + f(b, d)}{4}.
\end{aligned} \tag{3.10}$$

It is clear that the inequality represents a significant refinement of the inequality (2.1), which was obtained by Noor et al [14].

Conclusion: In this paper, we have proved an auxiliary result for Lebesgue integrable functions on the rectangle. Using this auxiliary results, we derived some new general Hermite-Hadamard inequalities for co-ordinated harmonic convex functions. Some special cases are discussed, which can be viewed as significant refinement of the known results. To the best of knowledge, this is new field, which required further investigation. It is our hope that the interested readers may find novel and innovative applications of the coordinated harmonic convex functions in various fields of pure and applied sciences.

Acknowledgements

We would like to express our sincere gratitude to the referees for their very constructive comments and suggestions, which helped us to improve the presentation of this paper. The authors would like to thank Dr. S. M. Junaid Zaidi (H.I., S. I.), Rector, COMSATS Institute of Information Technology, Pakistan, for providing excellent research and academic environments.

REFERENCES

1. F. Al-Azemi and O. Colin, Asian options with harmonic average, Appl. Math. Inform. Sci, 9(6)(2015), 2803-2811.

2. G. D. Anderson, M. K. Vamanamurthy and M. Vuorinen, Generalized convexity and inequalities, *J. Math. Anal. Appl.*, 335(2007), 1294-1308.
3. M. K. Bakulla, An improvement of the Hermite-Hadamard inequality for functions convex on the co-ordinates, *Austr. J. Math. Anal. Appl.*, 11(1)(2014), Art. 3, 1-7.
4. M. Alomari and M. Darus, The Hadamard's inequality for s -convex function of 2-variables on the co-ordinates, *Int. J. Math. Anal.*, 2(13)(2008), 629-638.
5. M. Alomari and M. Darus, On the Hadamard's inequality for log-convex function on the co-ordinates, *J. Inequal. Appl.*, (2009), Art. ID 283147, 13.
6. F. Chen, A note on the Hermite-hadamard inequality for convex functions on the co-ordinates, *J. Math. Inequal.*, 8(4)(2014), 915-923.
7. S.S. Dragomi, On the Hadamard's inequality for convex function on the co-ordinates in a rectangle from the plane, *Taiwanes J. Math.*, 5(4)(2001), 775-788.
8. S.S. Dragomir, Inequalities of Hermite-Hadamard type for HA-convex functions, Preprint RGMIA Res. Rep. Coll. 18(2015), Art. 38. [<http://rgmia.org/papers/v18/v18a38.pdf>].
9. I. Iscan, Hermite-Hadamard type inequalities for harmonically convex functions. *Hacettepe, J. Math. Stats.*, 43(6)(2014), 935-942.
10. S. K. Khattri, Three proofs of inequality $e < (1 + \frac{1}{n})^{n+0.5}$, *Amer. Math. Monthly*, 117(2010), 273-277.
11. M. A. Latif and M. Alomari, On Hadamard's type inequalities for h -convex functions on the co-ordinates, *Int. J. Math. Anal.*, 3(33)(2009), 1645-1656.
12. M. A. Latif and S.S. Dragomir, On some new inequalities for differentiable co-ordinated convex functions, *J. Inequal. Appl.*, 2012, 28(2012).
13. C. P. Niculescu and L. E. Persson, *Convex Functions and Their Applications*, Springer-Verlag, New York, (2006).
14. M. A. Noor, K. I. Noor and M. U. Awan, Integral inequalities for co-ordinated harmonically convex functions, *Complex Var. Elliptic Equat.*, 60(6)(2015), 776-786.
15. M. A. Noor, K. I. Noor and M. U. Awan. Some characterizations of harmonically log-convex functions. *Proc. Jangjeon. Math. Soc.*, 17(1)(2014), 51-61.
16. M. A. Noor, K. I. Noor, M. U. Awan and S. Costache. Some integral inequalities for harmonically h -convex functions. *U.P.B. Sci. Bull. Serai A*, 77(1)(2015), 5-16.
17. M. A. Noor, K. I. Noor and S. Iftikhar, Nonconvex functions and integral inequalities, *Punj. Univ. J. Math.*, 47(2)(2015).
18. M. A. Noor, K. I. Noor and S. Iftikhar, Integral inequalities for differentiable nonconvex functions, Preprint (2015).
19. M. A. Noor, K. I. Noor and S. Iftikhar, Hermite-Hadamard inequalities for harmonic nonconvex functions, Preprint (2015).
20. M. E. Ozdemir, H. Kavurmaci, A. O. Akdemir and M. Avic, Inequalities for convex and s -convex functions on $\Delta = [a, b] \times [c, d]$, *J. Inequal. Appl.*, 2012, 20(2012).
21. M. E. Ozdemir, X. Yildiz and A. O. Akdemir, On some new Hadamard-Type-inequalities for co-ordinated quasi-convex functions, *Hacet. J. Math. Stat.*, 41(5)(2012), 697-707.
22. J. Pecaric, F. Proschan, and Y. L. Tong, *Convex Functions, Partial Orderings and Statistical Applications*, Academic Press, New York, (1992).
23. H. N. Shi and Zhang, Some new judgement theorems of Schur geometric and Schur harmonic convexities for a class of symmetric functions, *J. Inequal. Appl.*, 527(2013).